normalized X?

Rati

< x2/ ndf >

<dpp. > (%)

[ normalized x? probability |

304188
1.019
0.5893

Entries
Mean
Std Dev

8 10 12 14 16 18 20
X2

301937

Entries

304188

Entries
t - | Mean
Std Dev

300831
0.5309
0.3148

: [Entries
_ | Mean
Std Dev

L

0.2 0.3 04050607 0809
Prob(x?)

= DQMstep3_TT_CKF
e DQMstep3_TT_default
wmm— DQMstep3_TT_defaultNEWT20

T

<prlp > (%)

11

—2 -1

INd
o
< X2/ ndf >

N

1.5

iy

0.5]

Ul

10%

1 2
TP n (PCA to beamline)

1072

-1
AR(track, jeltS)



	Contents
	Page 1


